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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  
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gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 
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duplicate pages/questions or having any 
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immediately replaced. 
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iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. vke dh iztkfr uhye yksdfiz; gS % 
 

1. Neelam is a popular mango variety of : 

(A) nf{k.k Hkkjr esa  (A) South India 

(B) iatkc esa  (B)  Punjab 

(C) ;w- ih- esa  (C)  U. P. 

(D) jktLFkku esa  (D)  Rajasthan  

2. liksVk dk mRifŸk LFkku gS % 
 

2. Native place of sapota is : 

(A) phu  (A) China 

(B) Hkkjr  (B)  India 

(C) m”.k dfVcU/kh; vesfjdk   (C)  Tropical America 

(D) usiky  (D)  Nepal 

3. eSfyd vEy dsoy fdl uhcw ds Qy esa ik;k 

tkrk gS \ 

 
3. Only citrus fruit which contains malic  

acid : 

(A) fdUuks  (A) Kinnow  

(B) ehBk vkSjsat  (B)  Sweet orange  

(C) dkxth  (C)  Kagzi 

(D) ehBk ykbe  (D)  Sweet lime  

4. vukj dk mRifŸk LFkku gS % 
 

4. Origin place of pomegranate is : 

(A) Hkkjr  (A) India 

(B) bZjku  (B)  Iran  

(C) vesfjdk   (C)  America 

(D) bVyh  (D)  Italy  
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5. cgkj mipkj dh vko’;drk fuEufyf[kr esa ls 

fdl Qy esa gksrh gS \ 

 
5. Out of following which fruit needs bahar 

treatment ? 

(A) ve:n  (A) Guava 

(B) yhph  (B)  Litchi  

(C) csj  (C)  Ber 

(D) vk¡oyk  (D)  Aonla 

6. ^iSisu* fdlls fudkyrs gSa \ 
 

6. Papain is extracted from : 

(A) yhph  (A) Litchi  

(B) iihrk  (B)  Papaya 

(C) ve:n  (C)  Guava 

(D) vke  (D)  Mango  

7. vke ds xq.klw= gksrs gSa % 
 

7. Chromosomal number of mango : 

(A) 42  (A) 42 

(B)  40  (B)  40 

(C)  30  (C)  30 

(D)  32  (D)  32 

8. vke dh cht jfgr iztkfr gS % 
 

8. Seedless variety of mango :  

(A) jRuk  (A) Ratna  

(B) efYydk   (B)  Mallika 

(C) fla/kq  (C)  Sindhu  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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9. Qkylk fdl dqy ls lEcfU/kr gS \ 
 

9. Phalsa belong to the family : 

(A) fVfy,lh  (A) Tiliaceae 

(B) ,sukdkfMZ,lh  (B)  Anacardiaceae 

(C) lsfiUMslh  (C)  Sapindaceae 

(D) vkWDtsyhMslh  (D)  Oxalidaceae 

10. okuLifrd :i ls dsyk Qy gksrk gS % 
 

10. The fruit of banana is botanically : 

(A) Mªwi  (A) Drupe  

(B) ikse  (B)  Pome  

(C) cSjh  (C)  Berry  

(D) ihiks  (D)  Pepo 

11. ldlZ dk iz;ksx 
-------------------- 

ds izo/kZu esa djrs gSaA 
 

11. Suckers are used for propagation in : 

(A) yhph  (A) Litchi  

(B) vke  (B)  Mango  

(C) ,oksdkMks  (C)  Avocado  

(D) dsyk  (D)  Banana 

12. ^vdkZ lgku* ,d iztkfr gS % 
 

12. „Arka Sahan‟ is a variety of : 

(A) ve:n dh  (A) Guava 

(B) ‘kjhQk dh  (B)  Custard Apple  

(C) vke dh   (C)  Mango 

(D) iihrk dh  (D)  Papaya 
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13. ,fjM Qyksa dk jktk fdls dgrs gSa \ 
 

13. King of arid fruits is called : 

(A) csj  (A) Ber 

(B) Qkylk  (B)  Phalsa 

(C) vukj  (C)  Pomegranate 

(D) vk¡oyk  (D)  Aonla 

14. dsyk ls fpIl cukus ds fy, dkSu&lh iztkfr 

gS \ 

 
14. Chips making variety of banana is : 

(A) iwou  (A) Poovan 

(B) u; iwou  (B)  Ney Poovan 

(C) usUMªu  (C)  Nandran  

(D) jlFkyh  (D)  Rasthali  

15. ,oksdkMks fdl dqy ls lEcfU/kr gS \ 
 

15. Avocado belongs to the family : 

(A) E;wlslh  (A) Musaceae 

(B) ,ukdkfMZ,lh  (B)  Anacardiaceae 

(C) lsfiUMslh   (C)  Sapindaceae 

(D) ykmjslh  (D)  Lauraceae 
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16. vke dh vkWDVkIykbM iztkfr gS % 
 

16. Octaploid variety of mango is : 

(A) osykbdksyEcku  (A) Vellaikollumban  

(B) dslj  (B)  Kesar 

(C) yxM+k  (C)  Langra 

(D) uhye  (D)  Neelam 

17. vaxwj esa ^e`nqjksfey vkflrk* jksx dk dkjd  

gS % 

 
17. Downy mildew in grape is caused by : 

(A) bjhflQh ikWyhxksuh  (A) Erysiphe polygoni  

(B) isjsuksLDysjksLiksjk foVhdksyk  (B)  Perenosclerospora viticola 

(C) IykLeksikjk foVhdksyk   (C)  Plasmopara viticola 

(D) IykLeksikjk foVsDl  (D)  Plasmopara vitax 

18. xqByh dh xqf>;k ,d leL;k gS % 
 

18. Stone weevils are problematic in : 

(A) iihrk dh  (A) Papaya 

(B) vke dh  (B)  Mango 

(C) ukfj;y dh  (C)  Coconut 

(D) ve:n dh  (D)  Guava 



 

HORT–5003 ( 8 )  Set-C 

19. dSizhfQds’ku izfØ;k fdlls lEcfU/kr gS \ 
 

19. Caprification is a process related to : 

(A) ve:n  (A) Guava 

(B) ,oksdkMks  (B)  Avocado 

(C) fQx ¼vathj½  (C)  Fig  

(D) iihrk  (D)  Papaya 

20. dsyk dk [kk;s tkuk okyk Hkkx gS % 
 

20. Edible part of banana is : 

(A) ehtksdkiZ  (A) Mesocarp  

(B) ,fjy  (B)  Arils  

(C) ,.MksdkiZ  (C)  Endocarp  

(D) isjhdkiZ  (D)  Pericarp  

21. iihrk ds [ksr esa fyaxkuqikr j[krs gSa % 
 

21. Sex ratio for papaya orchard is : 

(A) 1 : 40  (A) 1 : 40 

(B)  1 : 10  (B)  1 : 10 

(C)  1 : 50  (C)  1 : 50 

(D)  1 : 60  (D)  1 : 60 

22. esUxksLVhu fdl dqy dk gS \ 
 

22. Mangosteen belongs to the family : 

(A) ,ukdkfMZ,lh  (A) Anacardiaceae 

(B) xqV~VhQjslh  (B)  Guttiferaceae 

(C) okbVslh   (C)  Vitaceae 

(D) E;wlslh  (D)  Musaceae 
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23. l?ku jksi.k ds fy, vke dh dkSu&lh iztkfr 

mi;qDr gS \ 

 
23. Which mango variety is suitable for high 

density planting ? 

(A) uhye  (A) Neelam  

(B) fla/kq  (B)  Sindhu  

(C) vkezikyh  (C)  Amrapali 

(D) vfEcdk  (D)  Ambika 

24. vke esa eq[; ijkxd.k dkSu&lk gS \ 
 

24. Which of the following is the most 

common pollinator of mango ? 

(A) gkml¶ykbZ  (A) Housefly  

(B) cEcy ch  (B)  Bumble bee 

(C) e/kqeD[kh  (C)  Honeybee 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

25. vke dh dkSu&lh iztkfr gS tks fu;kZr dh 

tkrh gS \ 

 
25. Which of the following is the expert 

variety of mango ? 

(A) yaxM+k  (A) Langra 

(B) n’kgjh  (B)  Dashehari  

(C) vYQkalks  (C)  Alphonso  

(D) uhye  (D)  Neelam 

26. Hkkjr dk jk”Vªh; Qy dkSu&lk gS \ 
 

26. Which of the following is the national 

fruit of India ? 

(A) iihrk  (A) Papaya 

(B) dsyk  (B)  Banana 

(C) ve:n  (C)  Guava 

(D) vke  (D)  Mango 
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27. csj ds fy, mi;qDr tyok;q voLFkk;sa gSa % 
 

27. Climatic conditions favourable for ber : 

(A) ue ,oa lnkcgkj   (A) Moist and evergreen  

(B) ,fjM ,oa ‘kq”d  (B)  Arid and dry  

(C) lseh&,fjM  (C)  Semi-arid 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

28. dSe (CAM) ikS/kksa dk mnkgj.k gS % 
 

28. Which one is an example of CAM  

plants ? 

(A) vkWyho  (A) Olive 

(B) uhcw  (B)  Citrus  

(C) yhph  (C)  Litchi  

(D) vuUukl  (D)  Pineapple  

29. vke esa dq:irk dks jksdus dk vPNk mi;ksx 

gS % 

 
29. Which is useful for the control of mango 

malformation ? 

(A) IAA  (A) IAA 

(B)  IBA  (B)  IBA 

(C)  3
G A    (C)  3

G A   

(D)  NAA  (D)  NAA 

30. Qyksa esa gfjrfoghuhdj.k esa iz;qDr gksus okyk 

jlk;u gS % 

 
30. Which chemical is used for de-greening 

of fruit ? 

(A) lkbVksdkbfuu  (A) Cytokinin 

(B) ftczsfyd vEy  (B)  Gibberellic acid  

(C) bFkkbyhu  (C)  Ethylene  

(D) vkbZ- ch- ,-   (D)  IBA 
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31. ve:n dh f=xqf.kr iztkfr gS % 
 

31. Triploid variety of Guava : 

(A) ,y&49  (A) L-49 

(B) lhMysl ve:n   (B)  Seedless Guava 

(C) bykgkckn lQsnk  (C)  Allahabad Safeda 

(D) gfj>k%  (D)  Harijha 

32. vke esa vlaxfr fdl izdkj dh gksrh gS \ 
 

32. Type of incompatibility in mango : 

(A) LiksjksQkbfVd  (A) Sporophytic  

(B) xSesVksQkbfVd  (B)  Gametophytic  

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

33. ve:n dk NksVk ewyo`Ur gS % 
 

33. Dwarf rootstock of Guava : 

(A) iwlk Jhtu   (A) Pusa Shrizan 

(B) yfyr  (B)  Lalit 

(C) bykgkckn lQsnk  (C)  Allahabad Safeda 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

34. uhcw esa fVªLVstk fo”kk.kq dh lwpd iztkfr gS % 
 

34. Indicator species for Tristeza virus in 

citrus : 

(A) flVªl jsfVdqysVk   (A) Citrus reticulata  

(B) flVªl vkSjsUVhQksfy;e   (B)  Citrus aurantifolium  

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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35. dVgy fdl dqy ls lEcfU/kr gS \ 
 

35. Jackfruit belongs to family : 

(A) dsjhds,lh   (A) Caricaceae 

(B) ,ukdkfMZ,lh   (B)  Anacardiaceae 

(C) feVsZlh  (C)  Myrtaceae 

(D) eksjslh  (D)  Moraceae  

36. djkSank dk mRifŸk LFkku gS % 
 

36. Karonda has originated from : 

(A) nf{k.k vÝhdk   (A) South Africa  

(B) vesfjdk   (B)  America 

(C) Hkkjr  (C)  India 

(D) Jhyadk  (D)  Sri Lanka  

37. dkosjh ,d egRoiw.kZ ladj iztkfr gS % 
 

37. Kaveri is an improved hybrid variety of : 

(A) vk¡oyk dh  (A) Aonla  

(B) liksVk dh  (B)  Sapota  

(C) iS’ku ÝwV dh  (C)  Passion fruit  

(D) yksdkV dh  (D)  Loquat 

38. [kklh eSUMªhu loZJs”B iztkfr gS % 
 

38. Khasi mandrin is the best variety in : 

(A) xqtjkr esa  (A) Gujarat  

(B) vle esa  (B)  Assam 

(C) iatkc esa  (C)  Punjab 

(D) dukZVd eas  (D)  Karnataka  
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39. fdUuks eSUMªhu fdlds }kjk fodflr dh xbZ \ 
 

39. Kinnow mandrin was developed by : 

(A) ,p- ch- ÝkWLV  (A) H. B. Frost  

(B) ÇLoxy  (B)  Swingle  

(C) Lihth,y js   (C)  Spigeal Rey  

(D) Vkukdk   (D)  Tanaka  

40. vk¡oyk dh ^d`”.kk* iztkfr fdlds fy, mŸke  

gS \ 

 
40. „Krishna‟ variety of aonla is good for : 

(A) tSe  (A) Jam 

(B) tsyh   (B)  Jelly  

(C) eqjCck   (C)  Murabba  

(D) vpkj  (D)  Pickles  

41. csj dh nsj ls idus okyh iztkfr gS % 
 

41. Late maturity variety of ber is : 

(A) mejku  (A) Umran  

(B) xksyk  (B)  Gola 

(C) p¡py  (C)  Chanchal  

(D) j’eh  (D)  Rashmi  

42. vke vkSj dsyk gSa % 
 

42. Mango and banana are : 

(A) ukWu&DykbeSfDVªd Qy  (A) Non-climacteric fruits 

(B) DykbeSfDVªd Qy  (B)  Climacteric fruits  

(C) (A) vkSj (B) nksuksa   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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43. vke dk Qy vPNk lzksr gS % 
 

43. Mango fruits are good source of : 

(A) foVkfeu&, ds  (A) Vitamin A 

(B) foVkfeu&lh ds  (B)  Vitamin C 

(C) foVkfeu&ds d  (C)  Vitamin K 

(D) foVkfeu&Mh ds  (D)  Vitamin D 

44. vke dh dkSu&lh iztkfr iq”i xqPN ds izfrjks/kh 

gS \ 

 
44. Mango variety resistant to mango 

malformation : 

(A) HkknkSju  (A) Bhadauran  

(B) ckWEcs xzhu  (B)  Bombay Green  

(C) yaxM+k  (C)  Langra  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

45. ekWfj’kl iztkfr gS % 
 

45. Mauritius is variety of : 

(A) vaxwj dh  (A) Grape 

(B) ykbe dh  (B)  Lime 

(C) vuUukl dh  (C)  Pineapple  

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  
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46. lcls T;knk dVkbZ&N¡VkbZ okyk Qy dk ikS/kk 

gS % 

 
46. Most heavily pruned fruit plant is : 

(A) yhph  (A) Litchi  

(B) csj  (B)  Ber 

(C) ve:n  (C)  Guava 

(D) vke  (D)  Mango  

47. dsyk dh vf/kdka’k iztkfr;k¡ gSa % 
 

47. Most of the banana species are : 

(A) fVªIyksbM  (A) Triploid  

(B) fMIyksbM  (B)  Diploid  

(C) gsDlkIyksbM  (C)  Hexaploid  

(D) gsIyksbM  (D)  Haploid  

48. e`nqyk ladj fdLe gS % 
 

48. Mridula is a hybrid of : 

(A) ve:n dh  (A) Guava 

(B) vukj dh  (B)  Pomegranate  

(C) liksVk dh  (C)  Sapota  

(D) yhph dh  (D)  Litchi  
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49. ,d Qynkj o`{k dk uke crkb, tks vkerkSj 

ij lnkcgkj gksrk gS ysfdu B.Ms {ks= esa 

i.kZikrh gksrk gS % 

 
49. Name a fruit tree which is generally 

evergreen but deciduous in cold regions 

only : 

(A) vukj  (A) Pomegranate   

(B) vke  (B)  Mango  

(C) phdw  (C)  Chiku 

(D) ehBk vksjsat  (D)  Sweet Orange  

50. xkek fdj.k ds ek/;e ls mRiUu mRifjorhZ 

fdLe gS % 

 
50. Mutant variety produced through 

“gamma irradiation” is : 

(A) iwlk tkbUV  (A) Pusa Giant  

(B) dwxZ guh fMo  (B)  Coorg honey dew 

(C) dks-&1  (C)  CO-1 

(D) iwlk uUgk   (D)  Pusa Nanha  

51. dsys esa dksad.k jksx ds dkjd tho dk uke 

crkb, % 

 
51. Name the causal organism of Kokkan 

disease in banana : 

(A) cSDVhfj;k  (A) Bacteria 

(B) fo”kk.kq  (B)  Virus  

(C) ,e- ,y- vks -  (C)  MLO‟s 

(D) QQw¡n  (D)  Fungus  
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52. ml Qly dk uke crkb, ftls ekuo&fufeZr 

Qy Qly ds :i esa tkuk tkrk gS % 

 
52. Name the crops which are considered as 

man-made fruit crops : 

(A) fdUuks   (A) Kinnow  

(B) ,Veks;k   (B)  Atemoya  

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha   (D)  None of the above  

53. fdpu xkMZu ds fy, mi;qDr ckSus vke dk 

uke crkb, % 

 
53. Name the dwarf mango suitable for 

kitchen garden : 

(A) vYQkUlks  (A) Alphanso  

(B) n’kgjh  (B)  Dashehari  

(C) pkSlk  (C)  Chausa 

(D) vkezikyh  (D)  Amrapali  

54. ml Qly dk  uke crkb, ftlesa gLr 

ijkx.k lokZf/kd mi;ksxh gksrh gS % 

 
54. Name the fruit crop in which hand 

pollination is most useful : 

(A) [ktwj   (A) Date 

(B) vaxwj  (B)  Grape 

(C) vuUukl  (C)  Pineapple 

(D) vke  (D)  Mango  
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55. ml Qly dk uke crkb, ftlesa okuLifrd 

ikFksZuksdkihZ ik;k tkrk gS % 

 
55. Name the fruit crop in which vegetative 

parthenocarpy is found : 

(A) vaxwj   (A) Grape 

(B) dsyk  (B)  Banana 

(C) lsc  (C)  Apple  

(D) iihrk  (D)  Papaya 

56. ,sls Qy ikS/ks dk uke crkb, ftldk mi;ksx 

ckM+ ds fy, gksrk gS % 

 
56. Name the fruit crop which is used as 

hedge : 

(A) djkSank  (A) Karonda  

(B) iihrk  (B)  Papaya 

(C) dsyk  (C)  Banana 

(D) vk¡oyk  (D)  Aonla  

57. fuEufyf[kr esa ls dkSu&lh vke dh iztkfr 

iq”i xqPN dh izfrjks/kh gS \ 

 
57. Which of the following mango varieties 

is resistant to malformation ? 

(A) Hkkanjsu  (A) Bahandran  

(B) vfyc  (B)  Alib 

(C) byk;ph  (C)  Illaichi  

(D) mi;qZDr lHkh  (D)  All of the above  
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58. ukjaxh dh eqyk;e Ropk okyh jk”Vªh; iztkfr  

gS % 

 
58. National variety of loose skinned 

mandarin is : 

(A) fdUuks  (A) Kinnow  

(B) [kklh  (B)  Khasi  

(C) dwxZ  (C)  Coorg  

(D) ukxiqj  (D)  Nagpur 

59. iihrk dk mRifŸk LFkku gS % 
 

59. Native place of papaya is : 

(A) HkwVku  (A) Bhutan 

(B) m”.k dfVcU/kh; vesfjdk   (B)  Tropical America 

(C) Hkkjr  (C)  India 

(D) usiky  (D)  Nepal 

60. uhye × vYQkUlks] ekrk&firk gSa % 
 

60. Neelam × Alphonso are parents of : 

(A) jRuk ds  (A) Ratna  

(B) efYydk ds   (B)  Mallika 

(C) fla/kq ds  (C)  Sindhu  

(D) vkezikyh ds  (D)  Amarpali  

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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